普通物理學甲上
課程筆記
－月球與地球、太陽系內的牛頓力學－
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[image: image3.png]Consider a shell with radius r,as in Fig. 1:
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[image: image5.png]Fig.1 A gravity force model




[image: image6.png]Because all the force in the y — axis will be cancelled out




[image: image7.png]= It only has the x — axis force
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[image: image22.png]= Just like all the mass are gathering in the center of the ball
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[image: image29.png]= That is, the mass inside the ball won't "feel" any forces
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[image: image31.png]Fig. 2 The Balls




[image: image32.png]We could consider a smaller ball inside the big ball like Fig. 2 where P’satisfied:
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[image: image40.png]L, the surface area of the small ball (rgp,ay = 1)
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[image: image44.png]For all particles outside the earth
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[image: image50.png]Fig.3 Another Type of SHM




[image: image51.png]Consider of the situation in Fig. 3
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Extension: { LRL with hydrogen atom
Rutherford scattering
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